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	Conditional Statement
	

	Hypothesis
	

	Conclusion
	

	True Statement
	

	False Statement
	

	Counterexample
	

	Converse
	

	Inverse
	

	Contrapositive
	

	Biconditional Statement
	


1.  State the hypothesis and conclusion of the following:

a.  If a student studies for a test, then they will get an A in the class.

b.  If you are a football player, then you are an athlete.
c.  If x = 3, then x2 = 9.
2.  Rewrite the statement in if-then form.  Then write the converse, the inverse, and the contrapositive.

a. A car runs when there is gas in the tank.
If-then: ____________________________________________________________________________________

Converse: __________________________________________________________________________________

Inverse: ____________________________________________________________________________________

Contrapositive: ______________________________________________________________________________
b. All triangles have three sides.
If-then: ____________________________________________________________________________________

Converse: __________________________________________________________________________________

Inverse: ____________________________________________________________________________________

Contrapositive: ______________________________________________________________________________
3.  Rewrite the definition as a biconditional statement.
a. Two angles are complementary angles when the sum of their measures is 90°
b. Equilateral polygons have all of their sides congruent.
4.  Determine if the if-then statement is true or false.  If false, provide a counterexample.
a.  If you drive a mustang, then it is red.
b.  If m(2 = 90°, then it is a right angle.
c.  If (A is obtuse, then it measures 155°
d.  If you stay after school, then you go to math tutorial.
7.  Decide whether each statement about the diagram is true.  Explain your answer.
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